ela’yad Olasaa

oy

J9Y) ]

dauans Joladl
gannll a8 il



Question No. 19

Which of the following is NOT an Sl unit?

meter
foot
* mole

candela
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Question No_ 17

An atom’'s radius s 10w m

This equals, (1 nano 10% 1 micro () o
Im = 10° yum)

nano,

f um
OTum

g Thm

' v










sccuralely 420 km. The number of significant igures m

4 pls
accuratelydals

Al 3
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10 1 nano 107,

The lifetime of a muon is 104 seconds. This equals, (1 Mega
I micro (u) = 10" nano)
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Question No. 1

rwo forces are' (F1 =130 N. west) & (F2 =115 N, easl) Their resultant (R) IS

245 N. west
15 N. east
245 N. east

15 N. west
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Question No. 24

vwhich of the following is a derived SI quantity ?

iength

electric current
force

temperature
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Total questions in exam: 25 | Answered: 0

Question No. 8

If r 1s a length and t is time, the equation

=

\,' t

is dimensionally correct if k has the dimension of
LT
T 3 L - !

LT=?
TL-?
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Question No. 9

The dimensions of (mass/speed) 1S
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Question No. 18

G900 1S writlen as
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Question No. 2

the standal d of

v"', 11,,‘1; ,‘,r‘ A ~ " . a0
v of radialion | ¢ rocium aton 5
ation Of cesium a sms is used 10 qive

meiel
kllogram

nch
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Total questions in exam: 25 | Answered: 11

Question No. 21

it the dlameter of a human hair is 100 micrometers, this equals to
(HInt 1 mm = 1000 micrometers)

001 mm
05 mm
1mm

01 mm




ft s ime, r 1s a length the equation

= :
; K.r

dimensionally correct if k has the dimension of
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Question No. 16

You sold a car for SAR 93000 In order-of maanitude this price IS aboul

SAR 10¢

SAR 10¢
SAR 109
SAR 10
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vean

[

lake is Spproximately circular, with a 200-m diameter, (diameter
), and an average depth h

e %
S m. The volume of water i this lake can be es
(V=xe h)

1S % 104y
IS 1wy
1S = 10 oy
LS % 10" )




Question No, 11

- r { N " . . .
If & road has 80 kmvh speeddimit (3 3 =), the maximum speed a car can go without exceeding the Iimit (=9 59 1S

20 mis
30 mJs
10 m/s

40 mJ/s
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Question No. 2

10 m.

A lake with approximately circular surface has an average radius r = 0.5km and average depth h
The volume V = ar*h of this lake in liters(L) is approximately:

10°'L
101°L,
10° L.
100 L
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correct 1f k has the dimension of



wes 11 111111111 [ aking significant fiqures Nlo A

- Dvaing woooysmauxuaru g

@ n
on
y¥iun
¥ 10




MIKC L OFS

Physics Quiz

Total questions in exam 28 | Answereg 9

Question No. 8
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tal questions in exam: 2

Duestion No. 18

A distance of 0 05 km is e




Suessthion No. 12

A 7 59 dlamaona Watie g on e WO Y0 smaiest dwvriaon ' he v e Bt s i 1 vl :
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Convert 23 cm®to mm?®: (1 cm’

1000 mm?)









Question Mo

IFrisalength A Wanareaand V is 4 vol ime, he equation A « 'V is dimensior

ially correct if m &quals




' Question No._4

A concentration of 114 micrograms/milliiters (114 pg/mL) Is equivalent to:

|
© 1.14gL
0 0o0n4gn
© 1M4gL
© 0114 gL
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Question No. 24

Which of the following is a derived SI quantity?

length
electric current
force

temperature - >
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Gusstion Wo, 20

An mtom's edius Is 10% m. This equals, (1 nano = 10%, 1| micro () = 10° nano,
1o = 108 )

0.1um

1 um

0.1 nm

1inm
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Question No. 20

The thickness of 3 1200
estimated as-
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v, '3*.m"' haa .
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[Total questions in exam: 25 | Answered: 2

Forn1 = 06789, n2 = 0067890 . n3 =0 607890, and n4
are

607.89, the number with equal significant figures

''n1 and n2
n1 and n3
n2 and nd4

n3 and n4
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Express 1000'in. in centimeters (1 in. = 2.54 cm):

e 394 cm
® 3940 cm
» 254 cm

© 2540 cm




Question No. 2

The dimensions of (mass/speed) IS:

o ML
@ ML
¢ ML

¢ ML<1




cukson Mo, 4
Example of @ scalar 18
o weight

o distance

» displacement

» acceleration
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*200 million beats
* 20 million beats
220 billion begts
2 billion beats
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Question No. S

An object will have a zero acceleration if:

® only the speed is constant

» only the direction is constant
» both the speed and direction are changing
» both the speed and direction are constant
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(I o i 18 o 9 . R

b ion Wy |

hree forces are: (F1 =63 N, east), (F2 =42 N, west) & (F3 = 13N, west). Their resdltant (R is

0 24N, cast
o /9N, east
VN, wesl
vON cast



Question No. 6 /|

Knowing that 1= 12in. and 1 in. = 2.54 cif a distérice of 20 ft s equalto:

“061000 cm
0610 cm
¢6100 cm

061 cm
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Question No, 16

If ris a length, v is a speed and ¢ is time, the equation v = K/ + r/t is dimensionally correct if K has the dimension of:




ks questorss m ewarn 28 | Aoy 22

Question No 24

Iwo forces are: (F1 =60 N.up)& (F2=00N nght). The magnitude of the resultant (R) ks n earh
N
* 50N

180 N

127 N




"

, amluon'no b ] ’ | / “ .
Express 1000'in. in centimetérs (1 ir. = 2.54 cm).

0394 cm
03940 cm
0254 cm
02540 cm
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Question No, 2

The distance from Madinah to Riyadh is measuredto be abcurately 830km. The number of significant figures in this meastirement 1S;

| _-f‘»?‘l

<)




Physics_Ouiz1 _Sem1 _2019

Question No. 1
Two forces are: (F1 =90 N, west) & (FZ2 = 120 N, south). Their resultant (R) 1sS:

o (210 N, north of east)
(30 N, south of west)
(150 N, south of west)
(150 N, south of east)
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Question No. 18

es in France, gives the standard of:

A cylinder of platinum-iridium, kept at the Bureas of weights and Measur

kilogram

meter
¢ pound
second
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Guesnon No 3
In the SI system of units, the mass.

pound, meter and second
kilogram, foot and second
pound, foot and second
kilogram, meter and second

R e —

length and time are, res

pectively,

Physics_Qulz1 _Sem

measured in:

Y
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s about:

audi riyals (SAR). In order-of-magnltude this price i

Guestion No. 1T

You bought a2 car for 90500 S

SAR 10°
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| "Good precision” 15 an instrument’s ability 1o give I

weasurcrments that are

» random

o always scallered

o repeatedly close to each other
o repeatedly far from each other
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Question No. 19

scimal places in (0.0 12) Is:

The number of de




25.5'78 is corré.(-:'tly writter;as:

ditof subtrécﬁng 75 from

Question No. 22 Vi
g measurements; the res

| When rmakin
‘|

18078
|@18.1

/@18

| o 18,08
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Question No. 21

The percent uncertainty in the measurementm = 225+0.5gis:

0 1%
©2%
® 5%
0 3%
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fWMnnsnm 26 | Answered: 23

— 47 N, east). Their resultant (R) is:

Question No- 20
Three forces are: (F1=21N, east), (F2= 13 N, east) & (F3

@ 51N, east
© 40 N, west
# 30 N, west
o 17 N, east
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Questioa No. 17
1 ks Aoyt A i an e and Vs @ volume, (he cquation Aur - PV is dimensionally comect i n equals

o6
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Question No. 17
Of the following SI units, the only derived unit is:

@ newton
» ampere
meter
kelvin
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User YN41534°
Number of man
Number of ques

| Question No. 16
If r is @ length, v is a speed and t is time, the equation v = K/ + r/t is dimensionally correct if k has the dimension of:

@ LT#
® LT
o TL2
eL




i 1l

I
| Question No. 15 [
0.25 ki and average depth h = 5 m.

| A lake with approximately circular surface has an average radius r-
(L) is approximately:
| i
]

The volume V = ar’h of this lake in liters

@ 102L
® 10'L
© 10°L
@ 10°L



2 Y

” The dlmensibns of (mass'{: speed/lime) is:

| @ ML2 T l
® ML T
© ML2T?
@ ML T2
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Queston No. 18

| ~ "~ ar R ar ~ e a i 4 ~
VeCtors A and B are the ho zontal and vertice

al components for vector C. The magnitude of C is
given dy the relation

< LR \
C=A+8B

E;dmm§l




- { 4 -
> s Ces 77

motion accelerating at a rate of 2 m/s/s reaches a speed of 30 m/s In 5 seconds -

|

10:10.64.240
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Cuestion No. 21 nn“ =

wo forces are: (F1 =55 N, west) & (F2 = 33 N, north). The magnitude of their resultant (R)is:

B & F
e O
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Question No. 2 EERRa) ~ |

Three forces are: (F1 =40 N. north), (F2 = 0, east) and (F3 = 50 N, north). Their resultant (R) i3

30 N, north-west
90 N, south
30 N, north-east
90 N, north

[0 -
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S— EE

A quantity that requires both magnitude and direction is called:

speed
scalar
mass

vector
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Jueation No. 13

A length of 997

8 mm is equal to:

Q.09978 m
0.9978 m
9978 m

9978 m




Physics_Quiz1_Sem1_2019

2 Glameter of a human hair is 110 micrometers. this
1

equals to
mm = 1000 micrometers)

ol mm

1.1 mm
0.0011 mm

N 011 mm
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; rGuostion No. 1
aces in (0 52) 15

The number of decimal p!

e @

©
W N & D

(@)
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Question No. 24

If 1 um = 1000 nm, then 100 nm equals:

1 gm

0.1 pm
©0.001 pm
©0.01 ym
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Question No. 4 n n '

Which of the folowing numbers has three significant figures
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Question No. 25 n n

Ifrisalength, visa speed and ¢ is /K + it 15 dimensionally correct if k has the dimension of

time, the equation v

ave & Next_
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The frequency of radiation of cesium atoms is used to give the standard of

B

Second



The frequency of radiation of cesium atoms is used to give the standard of

Second 


0
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Question No, 2

Taking significant figures into account. the area ofa(2.5¢cm x

2.0 cm) rectangle is correctly given as

5.000 cm?
S em?
$.00 om?

5.0 cm?
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Question No. 23 nnn~
A 7.5-g diamond is weighed on a scale of 0.1-g smallest division. The weight that is correct ’
within the scale’s precision is:

6.74
729
79¢
74q9
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Question No. 12

g does it take for an object travelling with an acceleration of 4 Wt e | d
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1l quest N exam: 26 | Answored 1

g n.
£ Uy I has an acceleration of 4 ", his equal
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Mu-m 1
An average golar day has:

, 86400 hours

. $6400 minutes

86400 geconds
86400 days
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Ifr is a length, A is an area and V is a volume, the equation A = r**/V is dimensionally correct if n equals:

Questhon No. 14

)¢ — LA—AJ L

—




%3V I,

~» % +966 54 744 3172

a3 0. 13

pn‘,-s;cs‘Outz1_Sem1

| quessiicms B eI 29 [Acweeres 32

Guwesten No. 1T

Of the fallowing S! units the only derived unit Is:

newton
ampere
meter
kelvin
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R qeestons o v 28 | Arsaered M

~
i
R
Jser YN41565¢
St (A ] A |~
% s s S Number of main
When two vectors do not act in exactly the same or opposite direction, their Number of ques
resultant can be found using: Arsvared
* Right-hand theorem
+Area rule oag|
* Parallelogram ryle 2] [ 10] |
Circle rule




Example of 3 scalar Is:

o weight

o distance

« displacement
« acceleration
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S— EE

A quantity that requires both magnitude and direction is called:

speed
scalar
mass

vector




Ovors @ qestant ol

Question No AL
o) Kih for 40 min ¥

m a siray

" s(nwwl o

it Aeow at an aver

Atram I v oy

@ 150 m\"*
@ 100k

@ 2725 m

®1/5 km




- ua __'_...‘__ I'
U ‘-----r-:::‘_'!'.ﬂbx_i];_;:i =

fepeatedly far from each other
always scaltereq

(45 J3e)

‘€peatedly close to each other




Question No. 21

A vector is represented by:

"\ asquare
a triangle
a circle

| dahn armrow




L=112cmx3%
L =112 cm £ 2%
I N L= 1.2 tmt&“






|: 1 :h 'I t\:‘ = — | -
_II e A h:"_-.'l_h-h.:"- "'! :
| The uncertainty in the measurement 88 + 0.1 cmis: —~
| -
1 0.1cm
I 0.2cm
- 001 cm
4 o002cm
o




Question No. 8

T'he dimensions of (mass x Speed/time) is

ML T2
M L2 T
M L2 T2
M L1 T







Question No. 16

A distance of 0.05 km is equﬁl to:




| Question No. 22

Two forces are: (F1 =30 N, north) & (F2 = 40 N, north). Their resultant (R) is.

¢+ 50 N, north-east
20 N, north-west
70 N, north

\» TO N, south
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¥
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I
. question No. (-1
when making measurements, the res

ult of subtracting 2 .04 from 12.7 is written as.

& 10.0
@& 11.0

10.7
o 1066
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Total questions in exam: 25 | Answered: 0

Question No. 1

The percent uncertainty in the measurementm=5.1+0.1gis

v
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25 | Answered: 1

Total questions in exam

question No. 2
tandard of:

The frequency of radiation of cesium atoms 1S used to give the s

meter
kilogram
inch
second










25 | Answered: 0

sstions in exam

al Que
{

nstrument's ability to give measurements that are




Total questions in exam 25 lAnswered. 0

QB

The only set of units among the following that is fully?)rmsh System is

foot, pound, second
centimeter, pound, seconc

inch, mile, kilometer

foot, gram, second










Total questions in exam: 25 | Answered: 2

Question No. 17

Convert (5400 s) to minutes:

900 min
54 min
90 min
180 min




Total questions in exam: 25 | Answered: 2

Question No. 24

Which of the following is a derived SI quantity?

length
electric current
force

temperature



Total questions in exam: 25 | Answered: 0

Question No. 8

Ifr 1s a length and t is time, the equation

1s dimensionally correct if k has the dimension of

LT

TBL-I
§ D B
T2
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Tolal questions in ¢

Questton No. 11
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Total questions in exam 25 | Answered 9

Question No. 18

In the scientific natation, 36900 is written as

3.69 x 104
36.0 x lo:
3.69 » ]0:

0.369 x 104



dimensionally correct if k has the dimension of

LT
E-IT
T/L
L/T
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N exam 28 Answereg 25

Question No 1



Total questions in exam: 25 | Answered: 19

Question No. 2

A lake with approximately circular surface has an average radius r = 0.5 km and average depth h = 10 m.
The volume V = mr?h of this lake in liters (L) is approximately:

101 L
10191
10°L
10T,



Juestion No. 18

A distance of 0.05 km is equal to




T questions in oxam 28 | Amsweted 22

QuUestion No. 19

T e e
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BAK il :‘IE 3

25 | answered

Tots! t]uﬂ‘.ﬂll.ll'l!i i exain

ance I ( avers Is

ihe total dist

Question No. 24
avarage Spet 4 i5 30 Mo an a H-hotd irip

It a Cirs

150 KIm
540 kKim
150 Kim

yod KM




jlestion No. 18 I

1en making measurements, the result of adding 10.4700 and 20.90 Is correctly written as:
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Total questions in exam: 25 | answered: 1

Question No. 2
d of

d to give theé standar

The frequency of radiation of cesium atoms 15 use

melter
kilogram
inch

second







Total questions in exam 25 | Answered 25

Question Na. 15

27cm’ lom (1 m 10000 em)
00427 m

0427 m

1.27 m

12.7m



‏ Shahad
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Questian No. 1

Ifrisg lenpth, A 15 an area and 3 15 & volume the “qualion A — pa N

15 1lrr:lm'llz-mulz.-tJJ'~ correct if g equals




Question No. 21

A vector is represented by

| @ asquare
O atnangle
O acircle

@ an amow




9:30 AM

Question No. 22
A vector is represented by
© an arrow

2 asquare
2 acucle

O a trangle




Question No. 24

Two lorces are (F 1 100 N, up) & (F2 = 100 N QUWN) The magnude of thes reruler (T &

P 140N
100N

J00 N

4G STC Ceeee
q:Y.
/Y @ 0
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Question Ng. 17
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. Question No. 18

Tihwee forces are” (F1=15 N, east), (F2 =9 N, west) & (F3 = 3 N, west). Their resultant (52) is
[

-

| @ 27N, east

O 3N east

O 3N east
O 3N west
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Question No. 2

—ee

A quantity that requires both magnitude and direction is called:

!
!_ @ scalar
@ vector
@ order of magnitude

@ scientific notation




Question NO- 16
cee traveled O Jig it

ouam in 17299792458 ol a second 15 the gtandard of

The dis1an

& ghogram
meter
second
ampere
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Question No. 25

An average solar day has 86400

hours
mimnutes
seconds

years




00000615






Question No. 18

EPxgmple 0f & scalar s

& welncily
distance
accekrahion

displacement




Quasbon No 18

he sOendi aotanon By L0 &















—

| _
. Question No. 14
- ment can then be v

Using a ruler with cm and mm divisions 10 measure a ceriain length, we geta value of 11.2 cm Our measure

(@ L=112cmz 1%
@ L=112cm+2%
@ L=112cm+3%
@ L=112cm+5%
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Question No. 7

The number of significant figures in (0.3330) is:



Question No. 11
Of the following S units, the onfy derived unit i

o

1
| © newton
| © ampere

' O kelvin
L © meter




~ Question No. 3

} The decimal form for 7.621 x 10%s:

| © 7621
@ 762.1
' © 7621
' @ o7621

5ave & Next il ks




== s 5

|| Anairplane

| © (100 kmv/h, south of west)
'Ila . {‘Im}hnm, north of west)
[ | © (120 kmyn, north of west)
© (140 km/h, south of west)

Save & Next i, ki

* of velocity (v1 = 80 km/h, north) faces a wind of velocity (v2 =60 km/h, west). The resultant velocity of the plan
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r _' Wﬁ:‘mm Eadlatt@n of cesium atoms I8 used to give the standard of’
1 Xt

Save & Next A3, ki



Save & Next (131, ki
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Question No, B

The pumber of decimal places n (0 0100) s




Save & Next L, ki
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stion No. 5

- Significant figures are the digits in @ number that are:

® uncertain

© approximately known
© reliably known

© negative
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@3
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Question No, 2

LIsing a ruken with

cm and mm Asns 1O measure a certamim noin, we gl a v 1 moCiurm TR RN ]
| 1521 1
| |- i o1
| 15.2 1
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Question No. 3

Acaris moving with 100 km/h for 30 min and then took a rest for 3
100 Km/h for two hours The average speed for this journay is

U'min. The ear then continues
approximately:;

75 kmi/h

100 kmi/h
110 kmvh
83.3 km/h




Question No. 5

A car is moving with 120 km
s journey is approximately

70 km/n

120 v

T for 20 min and then took a res for 20 min

The car then continues with S0 kim/h for 20 min_ The average spead for







@ 110 kmm
|| @ 65 xmm
@ 85 kmm
@ 120 xmm

Save & Next 13, hu





